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QUESTION 1

What is the maximum number of nodes in a vRealize Operations cluster for Medium and Large node sizes? (Choose
the best answer.) 

A. 4 

B. 16 

C. 1 

D. 2 

Correct Answer: B 

Reference https://kb.vmware.com/s/article/2150421 

 

QUESTION 2

View the Exhibit. 

In the Policy Library tree shown, a change to which two policies could have an impact on the Production MySQL policy?
(Choose two.) 
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A. The Default Policy 

B. The A Production Policy 

C. The Base Settings policy 

D. The Production PostgreSQL policy 

E. The Production MySQL policy 

Correct Answer: CE 

 

QUESTION 3

Where can Alert definitions be enabled or disabled in vRealize Operations Manager? 

A. Administration -> Policies 

B. Administration -> Access Control 

C. Content -> Policies 

D. Content -> Notifications 

Correct Answer: A 

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-62/index.jsp?topic=%
2Fcom.vmware.vcom.core.doc%2FGUID-D0FE7A3E-083F-4B74-AC57-020EFE94B98D.html 

 

QUESTION 4

In vRealize Operations (vROps), what are three reasons for using custom data centers (CDC)? (Choose three.) 

A. Forecast and analyze capacity needs for the objects it contains 

B. Group objects across different vROps instances 

C. Provide capacity analytics and capacity badge computations for the objects it contains 

D. Group data centers, clusters, hosts, virtual machines and datastore objects that span multiple vCenter server
instances 

Correct Answer: ACD 

Reference https://docs.vmware.com/en/vRealize-Operations-Manager/6.5/com.vmware.vcom.core.doc/ 

GUID-B8A67BF8-B283-4B47-8F04-D3ECB1A04723.html 

 

QUESTION 5

Which Action is supported for automation? (Choose the best answer.) 
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A. Rebalance Container 

B. Power Off VM 

C. Print Report 

D. Delete Snapshots 

Correct Answer: B 

Reference https://blogs.vmware.com/management/2016/07/david-davis-on-vrealize-operations-post-27automated-
remediation-in-vrops-6-x.html 
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